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 CHAPTER 1

P. E. 1.1
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P. E. 1.2
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Prob.1.1

See text
Prob. 1.2

Noise is any signal which interferes with and corrupts the desired signal.  Noise is an interference and constitutes a major limitation to communication system.

Prob. 1.3

(a) 10log10 0.036 = - 14.43 dB
(b) 10log 42 = 10.23 dB

(c) 10log 508 = 27.06 dB

(d) 
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Prob. 1.4
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(a)    140 dB = 10log10

(b)    3 dB = 10log100.501

(c)    20 dB = 10log10100

(d)    42 dB = 10log1015,848.93
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Prob. 1.5
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Prob. 1.6
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(b)   10log(0.36)= -4.437 dBW

         10log(360)=25.56 dBm

(c)   10log(2) = 3.01 dBW

        10log(2000) = 330.1 
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(d)   10log(110) = 20.41 dBW
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Prob. 1.7
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(b)

[image: image8.wmf](

)

dBm/10

-3-3

3dBm/10

9dBm/10

-1212

PP

 dBm = 10log10

1010

P10

 dBrn = 10log10log10log10

1010

 dBrn= 90+ P dBm

Hence,

          dBrn = 90+ dBm

P

P

P

P

P

P

-+

+

-

æö

¾¾®=

ç÷

èø

æö

æö

==

ç÷

ç÷

èø

èø


Prob. 1.8
B = 2 MHz,    S/N = 102.5  = 316
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Prob. 1.9

(a) S=250 W,  N = 20 W,  B = 3 MHz
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Prob. 1.10
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Prob. 1.11
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